Assembling Instruction

Attention:Do not tighten the screws until all of them are in right positions

NOTE:Please contact us in time if you find any accessories missing or
damaged in the package ,we will send you the corresponding accessories
for free.




IO
21012121010]
010191010101/




A B C

o S Pons

X38 xX38 M6x35 x4 M6x28 x4 M4x12 x24
F G &
DL

- e =

M4x16 x4 M4x30 x12 X2 X2

®)| @ |

X V4
1

1
N ) 3
B
BB B \/
oy
!/é/l‘ Fe) _om ] Y X
AY DL \
1T =
A| x8
B| x8

|| x2




lcd x2 | lcH x2 | [E] x8 |

B[ x8 |




oard,
step 17.

amp belt and
ick it to the middle
b
own in

off the film on

14

|x4 ||J|x2 |

|E

13
15




7w

17
19




